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Instructions

Use your Response Document to answer question 23.

1. Which inequality is true?
A —03<-05

B. 0.03>0.1
3
C. —15 >-1.7

2
D. 14< 1;

2. P is five times the sum of g and t, divided by r. What is P if g=8, r=4, and t=27
A 10.5
B. 12.5
c. 20

D. 40.5

Page 2 of 10

o schoolnet
Math Gr 6 FAIM 2016 Form 1-A



3. Jimmy built a model of a sea with different types of vehicles for his history class. In the
model, there are airplanes located above the surface of the water and submarines located
below the surface of the water. The various vehicles are located at the following positions:

Airplane A is located 10 inches above the surface of the water.
Airplane B is located 20 inches above the surface of the water.
Submarine 1 is located 22 inches below the surface of the water.
Submarine 2 is located 10 inches below the surface of the water.

Which vehicle is the greatest distance from the surface of the water?
A. Airplane A

B. Airplane B

C. Submarine 1

D. Submarine 2

4. The force of gravity between two objects of mass m; and m, is shown by the equation below.

Force=G x (—[ml][m 2) J

d2

The gravitational constant is represented by G. The distance, d, between the two objects is
20 meters. The mass of the first object, m,, is 20 kilograms and the mass of the second

object, m,, is 1,000 kilograms. What is the value of the fractional part of the equation that is
multiplied by G?
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5. The net below represents a rectangular prism.

The net of a larger rectangular prism is in the same shape, but each of its dimensions is 1
unit greater. What is the surface area of the larger rectangular prism?

6. The sixth grade class at River View School had elections for class president and vice
president.

Part A. In the election for class president, Rachel received 60 votes and Lucas received 10

votes. What is the ratio of the number of votes Rachel received to the number of votes Lucas
received?

Part B. This chart shows the number of votes for class vice president.

Students | Votes
Luis 22
Morgan 6
Julia 24
Tom 18

For which two students was the ratio of votes 3:17?

7. Which expression is equivalent to 3y + 247
A 3y+8

B. 3(y +38)
c. 3y +8y

D. 3y(y +8)
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8. Which statement about statistical questions is true?
A. A statistical question has many possible answers.
B. A statistical question has only one possible answer.
Cc. A statistical question can have only words as answers.

D. A statistical question can have only numbers as answers.

9. Charlotte uses cubes that measure % inch on each side to fill a box that is 4% inches wide by

7% inches deep with a height of 2% inches. How many Z-inch cubes will Charlotte need to fill

the box completely?

10. The points on the coordinate plane shown below are two of the vertices of a rectangle.

i
.
A(3,3
* —3
2
1
5 4-3-9 123 45 "
2 D (4,%2)
-3
=
_5‘F

Part A. What are the coordinates of the other two vertices of the rectangle?

Part B. What is the total perimeter of the rectangle? Show your work.

11. There are 20 students in Aiden’s class and % of them are boys. What is the ratio of girls to

boys in his class?
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12. The line plot shows distribution of quiz scores for Ms. Engel’s first period math class.

QUIZ SCORES

X

X

X X
X X X
X X X
X X X X
X X X X X
X X X X X X X X
12 13 14 15 16 117 18 19 20

Points Scored
KEY
X = 1 Student

Which choice best describes the distribution of the data?

A. The distribution of the set of data is skewed left.

B. The distribution of the set of data is skewed right.

c. The distribution of the set of data has a gap between 18 and 20.

D. The distribution of the set of data is clustered between 12 and 16.
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13. Two gears on a machine are aligned by a mark down the center of one gear to the center of
the other gear, as shown below.

®

()

The top gear has 24 teeth and the bottom gear has 60 teeth. How many revolutions of the
top gear are needed until the two marks align again for the first time?

A
B.

c. 24
D. 60

14. Lloyd is using pieces of ribbon to wrap 15 gifts. He has 18 feet of ribbon. He cuts the ribbon
so that he has the same length of ribbon for each gift without any left over. What is the
length, in feet, of each piece of ribbon?

15. A pair of shoes that Maria wants are $56. She has a coupon for 25% off any pair of shoes.
After the coupon discount, how much will the shoes cost Maria in dollars?
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16. On Monday, the high temperature was 23°F. The high temperature for each of the next 4
days reflected changes of +4, -5, -3, and +2 degrees, with each change indicating the
difference from the previous day’s high temperature. What was the high temperature, in
degrees Farenheit, on Friday?

17. What is a statistical measure that summarizes all of the values of a data set?

18. The table below shows the prices of a school cafeteria.

CAFETERIA MENU

Breakfast | $1.60
Lunch $2.35

Fruit $0.45
Popcorn | $0.50

Jayden’s mom wants to send in a check for her lunch for 20 days. Jayden also plans to order
breakfast 3 days and extra fruit 2 times.

Part A. How much should the check be written for? Show your work.

Part B. Jayden was absent 2 times during this month and did not spend her daily lunch money
these days. How could Jayden spend the extra money in the cafeteria? Describe one way that
she could spend all of the extra money that includes getting breakfast at least once. Show or
explain your work.
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19. On the coordinate grid shown below, Louise plots her house at a point that is 6 units left and
10 units down from the school.

10

What are the coordinates of Louise’s house?

A (-11, 1)
B. (-7, -3)
c. (-3,-7)
p. (1, -11)

20. A librarian is collecting data on which is the most beloved book. Which method should the
librarian use to determine the most beloved book?

A. Ask the first 50 people who attend the weekly movie night.
B. Ask every third member of the science fiction book club.
Cc. Ask the first 10 students in the summer reading club.

D. Ask every fifth person in line who checks out books.

21. Travis and his sister were born on the same day but in different years. Travis is 14 years old,
and his sister is 17 years old. Write an expression to represent Travis’s age in terms of his
sister’s age, s, at any given point in time.
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22. Rae buys 4 baskets for $6.80. Each basket costs the same price. This double number line

diagram shows the cost for 4 baskets.

Cost (in dollars)

Baskets

What is the cost per basket?
A $1.20
B. $1.70
c. $2.80

D. $3.80

23. Two rational numbers are shown below.

7
3.5, )

Draw a number line like the one below then plot a point to show the location of each of the

numbers. Label each point to show which number it represents.

Y

' Y
£
-
-

1

Place an "X" in the answer box below.
Answer the question on the Response Document provided.

Click next.
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